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1a. A =84cm; B = 96cm 1b. A=70m; B = 90m

2a. 60m 2b. 60m

3a. False; A = 68m, B = 56m 3b. False; A = 56cm, B = 44cm
4a.B 4b. B
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5b. A =85cm; B =42.5cm
6b.71m

7b. True

8b. A
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9a. A=48m; B =74.5cm 9b. A=75cm; B=8m
10a. 103cm 10b. 65.5cm

11a. False; A =78cm, B = 57.5cm 11b. True

12a.C 12b. Aand B
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Ta. 84cm

2a. Various answers, for example:

16m +5m + 16m + 5m

3a. Cherny is incorrect because she has

only added the labelled measurements.

The missing measurements are 8m and
4m. The perimeter is 56m.

1b. 84cm

2b. Various answers, for example:

15m + 4m + 15m + 4m

3b. Oliver is incorrect because he has only
added the labelled measurements. The
missing measurements are 9m and ém.
The perimeter is 48m.
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4a.72cm

5a. Various answers, for example:

20m + 10.5m +20m + 10.5m

éa. Lucy is incorrect because she has only
added the labelled measurements. The
missing measurements are 4m and 4m.
The perimeter is 63m.

4b. 88cm

5b. Various answers, for example:

20m + 8.5m +20m + 8.5m

6b. Tahir is incorrect because he has only
added the labelled measurements. The
missing measurements are 17.25m, 12m
and 6.25m. The perimeter is 107m.
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7a.0.63m

8a. Various answers, for example:

39.5m +22.5m + 39.5m + 22.5m

9a. Colin is incorrect because he has only
added the labelled measurements. The
missing measurements are 10.75cm and
4.75cm. The perimeter is 90cm.

7b.1.17m

8b. Various answers, for example:

41.5m + 25.5m + 41.5m + 25.5m

9b. Connie is incorrect because she has
only added the labelled measurements.
The missing measurements are 3.5cm,
8.5cm and 11.5cm. The perimeteris 71cm.




